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1. Which of the following does not contribute to a basis for trade between two countries?

(A) different tastes and preferences (B) different technologies

(C) different relative factor endowments (D) different absolute factor endowments, but the same relative endowments

2. Which one of the following items is a “credit” item in a country’s balance-of-payments accounts?
(A) unilateral transfers received form another country

(B) decrease in short-term home country assets owned by foreign private citizens

(C) import of goods
(D) domestic purchase of a foreign corporation’s bond . Fran » TOT;
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3. In the following offer curve diagram, at TOT}, there is excess demand for : =
orea
and the movement to equilibrium will result in better terms of trade for
(A) wine; Korea (B) clothing; Korea
C) wine; Fi D) clothing; F
(C) wine; France (D) clothing; France 0 Wine

4. If a PPP estimate of the dollar/pound exchange rate is $1.61/£ and the current spot rate is observed to be $1.68/ £, on the basis of these two

rates you should i .
(A) expect the dollar to appreciate against the pound. (B) try to take a “short” position in dollars.
(C) expect the pound to appreciate against the dollar. (D) have no expectation regarding the likely movement of the dollar/pound

exchange rate.
- )

5. The Stolper-Samuelson theorem suggestd that, when a country is opened to international trade, the relative price of the country’s abundant
factor of production will , the relative price of the country’s scarce factor of production will
(A) rise; also rise (B) rise; fail (C) fall; rise (D) fall; also fall

6. In the Dornbusch “overshooting” model, asset markets adjust rapidly to disturbances than do goods markets, and therefore the
exchange rate and the price level ’ proportionately to each other in the short run.

(A) more; move (B) more; do not move" o (C) less; move (D) less; do not move

7. If a country’s GNP grows by 10 percent and its imports fall by 't-S"]::-ércent because of the growth, this growth pattern would be classified as
growth,
(A) ultra-antitrade (B) protrude (C) antitrade (D) ultra-protrade

8. If national income is greater than spending by domestic residents, then the country will have, in its balance of trade (or balance on current
account),
(A) a deficit. (B) a surplus. (C) neither a deficit nor a surplus. (D) either a deficit of a surplus — cannot be

determined without more information.

9. Suppose that the nominal tariff rate on final good X is 8 percent and that the weighted average of the nominal tariff rates on the inputs used in
producing good X is 12 percent. In this situation, the effective rate of protection (ERP) for final good industry X
(A) must be greater than 12 percent. - (B) must be between 8 percent and 12 percent. ;

(C) must be less than 8 percent and greater than zero percent. (D) must be less than 8 percent and can be negative.

i
10. Under a fixed exchange rates, a balance-of-payments surplus for a country will lead to a in the money supply as the country’s
central bank in order to maintain the fixed exchange rate.
(A) rise; purchases domestic currency (B) rise; purchases foreign exchange

(C) fall; sells domestic currency (D) fall; sells foreign exchange
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11. The imposition of an export tax by a home country will lead to in home country consumer surplus and will in home
country producer surplus.
"(A) a decrease; also lead to a decrease (B) a decrease; lead tlo an increase
(C) an increase; lead to a decrease (D) an increase; also lead to an increase

12. In a situation of flexible exchange rates, an exogenous increase in foreign interest rates will cause of the domestic currency and,
most likely, in the domestic interest rate.
(A) a depreciation; a rise - (B) an appreciation; a rise (C) a depreciation; a fall (D) an appreciation; a fall

713, A tariff placed upon a product in order to offset a foreign export subsidy is called
. (A) an antidumping duty. (B) a predatory duty. (C) a countervailing duty. (D) a specific duty.

14. In the IS/LM/BP analysis, as a country’s currency depreciates (and assuming that the Marshall-Lerner conditions holds), the country’s
(A) LM curve shifts to the right. (B) BP curve shifts to the right. (C) IS curve shifts to the left. (D) LM curve shifts to the left.

15. If a (large) Country B puts on an export tax on a good, and assuming that world demand for the export from B is not perfectly inelastic, then,

because of the tax, the price of the good in Country B will and the price of the good on the world market
(A) increase; will decrease (B) decrease; also will decrease ) increase; also will increase (D) decrease; will increase
b S i
16. If exchange rates are fixed, an increase in the money supply will lead to in the equi'l'ibrt'um level of income and to in the price
level.
(A) an increase; no change (B) no change; no change (C) an increase; a decrease (D) an increase; an increase

¥i. Wilich of the following is considered to be a positive dynamic effect of integration?
by

(A) economies-of-scale effects (B) reduced customs costs
[}
[T T ([Cy irade diversion (D) the increased monopoly power of firms
18. If a country has a current account deficit, then the country must also have RIS FHEEPR]
(A) a merchandise trade deficit, (B) a financial or capital account surplus.
(C) a financial or capital account deficit. (D) an increase in its net international ihvestment position.

19. If a country exports and imports goods in the same product classification category,
(A) this is example of the Ricardo trade pattern. (B) this is an example of inter-industry trade.
(C) this is an example of intra-industry trade. (D) this would be welfare-reducing trade since the principle of comparative advantage

would have in effect been ignored.

20. Which of the following occurs if a country A depreciates its currency relative to country B’s currency ?
(A) A’s export goods become cheaper to A’s citizens. (B) A’s export goods become cheaper to B’s citizens.
(C) B’s export goods become cheaper to A’s citizens. (D) B’s export goods become cheaper to B’s citizens.

TR (B4 S HE20)
1. HEExR 2. J ghEg - 3. {AfER 5 4, Metzler ¥ /5§ 5. #85%E — 551 (economic dualism)

|
= EE (RRAELRY - FHRTHS) : -
L BRSPS AR TR, - (10 B LRI - AL\ STRSULAAMIRR R ACIRR, — E B - ZEIRINBORTT -
TR THDRITATIRNG - SEREGURS - FISK - HESK - RSO M@ R (AR 2 i
(@) MBS TRRAE FRART - (134)
(b) BURFBHS RIS EREIGIRG e I FTRCARA ) - (1243)

2. FEAIGERBIBAGHOHC - RIS IR TH I OMGBOR - S A E AT T 500 JTTHHIE) - FECE B SATIL—
BERNITELT » W SRR TR (s (SRR - s - DR - SR REFKERTRE - (15 57)

b e T






